LIOQUIP=

PART OF orw lDu-—-

Liquip LBMS800 Balance Assembly New and Retrofit Survey Sheet

Leading The Way in Fluid Handling Solutions Worldwide

Customer: ‘

Site
Address:

Measured by: ‘

Number of arms required:

NDT required: ‘

Paint:

Riser flange heights from road, in mm

(4” ANSI 150 RF)

Position Measured Ideal
1t arm 2850
2" arm 3300
39arm 3750
4% arm 4200
5t arm 4650
6™ arm 5100

LBM800 can be assembled to be left or right hand as well
as upward or downward inlet feed.

L217 spool is used to raise mount flange to ideal height.

L219* horizontal spool may be aluminium or steel
depending on multiple factors.

VNI & VNC-A4 swivels have multiple seal options.

Indicate whether angled (VSA4) or straight (VSS4) coupler
spool is needed.

Specify API coupler model (if known).

BALANCE ASSY

(RIGHT
UPWARD FEED SHOWN)

484
285

" 4416 OR 3008

HAND,
HORIZONTAL

\SPOOL PIECE

TWO STRUTS

LENGTH "L" AS REQUIRED

<—>I<7 LENGTH "L" LESS 520mm *»F—»*

Al

T Tl e

SUPPORT
FOR RISER PIPE

VCF500
VAPOUR
COUPLER

EXISTING RISER PIPE

!
‘

! \__DN100 ANSI 150
| RFFLANGE
!

j

|

|

5639P - STANDARD 2 METRE LONG
ST STEEL FLEXIBLE DROP HOSE—
100mm TTMA FLANGE ENDS

VS84 STRAIGHT
COUPLER SPOOL

VNC-A4VG
COUPLER
SWIVEL

VAPOUR RECOVERY
CONNECTION

STRAIGHT
CONNECTION

740 TYPICAL

15° CONNECTION
(AUSTRALIA &
NEW ZEALAND)

120

DROP SPOOL
(AS REQ'D)

2000mm TYP. DROP HOSE

[ VSA4 15°
COUPLER SPOOL

AP1810 COUPLER

N
o

495

830 TYPICAL J

10UIP

See website for Liquip branches and distributors -www.liquip.com

Issue: A

Part No. Description Example #1 #2 #3 #4 #5 #6 ANSI gasket kit
1217 Riser spool (length) 350 1 x 4235 Gasket klingersil
8 x 4892 Stud 5/8” UNC x 3%”
LBMS800 Balance assembly AVl spec B7 c/w 2 x 2H nuts each
L219* |Horizontal spool (length)| 1480
VNI-A4* Intermediate swivel 79 TTMA gasket kit
L220A Drop spool (length) 900 1 x 4248 Gasket klingersil
5639P Drop hose 2m x1 8 x 6745 Bolt M10 PC8.8
8 x 6744 Nut M10
_A4* i
VNC-A4 Coupler swivel ve 8 x 5261 Spring washer M10
Vs*4 Coupler spool Vss4 16 x Flat washer M10
AP|*** API coupler API725])
4235 4” ANSI 150 gasket kit x2 Typ 1 per arm, 2 if riser spool used
4248 4” TTMA gasket kit x7 Typ 7 per arm, 6 if no drop spool used

www.liquip.com

ONE COMPANY. ONE WORLD. ONE SOURCE."

Liquip International Pty Ltd

ABN 63 112 087 448

13 Hume Road Smithfield, NSW 2164 Australia
PO Box 7049 Wetherill Park, BC NSW 2164

T: +61 2 9725 9000

F:+61 29725 1252

\\sydadc01\PublicB\COMMON\Engineering\Loading_Survey_sheets\LBM800 Survey sheet.docx

flm -
‘@

GlobalMark com au®

11/2/2016



